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O 1: f(z)=exp(z) 00O
w | 000 | k=01 | DO | hr=02]| DO |DO2/D01
1 || 2.718282 | 2.720548 | 0.002266 | 2.727355 | 0.009073 |  4.004002
2 || 7.380056 | 7.395216 | 0.006160 | 7.413719 | 0.024663 |  4.004002
3 || 20.08554 | 20.10228 | 0.016744 | 20.15258 | 0.067041 |  4.004002
4 || 54.59815 | 54.64366 | 0.045514 | 54.78039 | 0.182237 |  4.004002

0 2: f(zr) =2~ 152 +822000
z [|[000 | k=01 |00 [ h=02 |00 [DD02/001

1 —112 —112.2 0.2 —112.8 0.8 4
2 —464 —464.1 0.1 —464.4 | 04 4
3 —936 —936 0 —936 0 —
4 || —1408 | —14079 | 0.1 | —1407.6 | 0.4 4
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Ap = GLAL_1Gy (2)
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cosf --- sinf
G = : RU (3)
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